' GROUP 5 UNDERCARRIAGE

UNDERCARRIAGE MOUNTING

&

Rod

ADJUST COMPONENT

Cover

Track chain

Carrier roller

Swing bearing

Idler

[0}
Y

Adjust
component

Track roller

Track guard

Travel motor
Sprocket
3309S9CM08

- Tightening torque
Item Size kgf - m bf - ft ltem Size kgf - m Ibf - ft

1 M10x1.5 6.9*t14 49.9110.1 5 M16x2.0 29.7t45 215325

2 M12 X1.75 12.8+3.0 926217 6 M20x 2.5 57.9%6.0 419434

3 M12x1.75 15£0.5 108+3.6 7 M22 %X 1.5 115%£5.0 83136

4 M16X2.0 29.7£3.0 215+21.7 8 M24 X 3.0 100+10 723£72.3




UNDERCARRIAGE MOUNTING (HIGH WALKER)

‘.~ Roller

Track guard

Full track guard type

3309S9CM09

- Tightening torque

MES
= |lo|-
||+
2 o »

— | QN

< |~

©
€ |ow|2
o [
(=2 e > NN ]

51

vl
e23

X | X
N
= |lo| <
0N

==
m456
=

- o

S5 &
ﬁ1
N EAEEE
s oo
O || Y| v\
T oo 8

< | ©

DARCARS
m114
.iﬁ_i
fg >~—
2ldlalw

h
Te)
|~ w0
~ | — | QN
Q| X | x|X
n |22
= ==
nmu..ln/_nd
=

9-10



